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If t and T be the times taken by light to cover the same distance x in vacuum and a

medium of refractive index p respectively, then the time T will be equal to ....
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Two thin converging lenses of power 5D and 4D are coaxially 0.1m apart. The power

of the combination is ....
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In Lloyd’s single mirror interference experiment, the distance of separation between
the real and virtual sources is 2 mm. The screen is kept at a distance of 1.5 m from the

source. Wavelength of the light used is 5890 A. Then the fringe width is ....
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In a Newton’s ring experiment the diameter of 10" ring changes from 1.41 cm to 1.28
cm when a drop of liquid is introduced between the lens and the glass plate. The

refractive index of the liquid is ....
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In the phenomenon of interference, the law of conservation of energy is ....
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The bending of light round the edges of an obstacle or the encroachment of light

within the geometrical shadow is called ....
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In Michelson’s interferometer, 50 fringes cross the field of view when the movable
mirror is displaced through 0.01474 mm. The wavelength of light used is ....
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If the slit widths are 0.12 mm and they are 0.6 mm apart. The missing orders for a

double slit Fraunhofer diffraction pattern are ....
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An optical device which is used for producing and analyzing the plane polarized light

is called ....
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Least number of lines required to resolve the D-line of sodium (589 nm and 589.6nm)

in the second order is ....
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When two waves vibrating at right angles to each other having unequal amplitude

should have a phase difference of /2 , path difference of A/4 produced .... light
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The thickness of A/4 — plate for light of wavelength 589.3nm is ....

( Given no = 1.554 and ne =1.553)
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The refractive index of the core is 1.51 and that of the material used for cladding is

1.47. The numerical aperture (NA) of the step-index optical fibre is ....
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The property of rotating the plane of vibration of a plane polarized light is called ....

e ANEf0e A Fdod (FEE (F I ?
Cauchy’s formula for normal dispersion is ....
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